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Candidates are required to give their answers in

1.  Answer any ten questions:

their own words as far as practicable.
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c)
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What is meant by 'Reconquista'?
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What is 'Black Death'?
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Why the year 1453 is significant?
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What is meant by Incunabula?
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Who is Girolamo Fracastoro (1478-1553)?
Why he is famous?
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Who is Gerardus Mercator (1512-1594)? Why
he is famous?
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Who wrote 'Discourses on Livy' and what is the
main content of this book?
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What is the significance of 'the Birth of Venus'
painting?
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Why is Galeleo regarded as the father of modern
science?
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Who are the Anabaptists?
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What is the significance of Cortes in the history
of Spain?
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What is the significance of the Peace of
Westphalia (1648)?
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Who is Anne Boleyn? Why is she famous in the
history of England?
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n)  Who are the Puritans?
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o) What is eleven years' tyranny in English
History?
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2.  Answer any four of the following : 5x4=20
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a) How did American economist Paul Sweezy
explain the decline of feudalism in Europe?
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b)  Who were the Ottomans? Why did they invade
the rump Byzantine Empire?
SR T e @ ol A0S0 AEiey
SN AT 2

c) Trace the development of map-drawing in
Europe in the late 15th century.
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d) What is meant by the 'military revolution' in
early modern Europe?
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e) Why did the reformation movement first occur
in Germany?
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3.  Answer any two question:

Who were the Huguenots?
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How would you explain the rise of Renaissance
Humanism?
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Discuss the causes of the French War of
Religion (1562-1598). Why do the historians
call it the 'second deadliest religious war' in

European History? 6+4=10
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Do you think that the Renaissance and
Reformation though opposite by nature
combined to bring in modernity in Europe?
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To what extent did the English Civil War (1642-
1652) contribute to the shaping of nation state
in England?
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